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I What do | need to be able to do? @4 MO!’dS
|
he
| Egat end of ths unt you shou be able Solution: a valve we can put in place of a variable that makes the equation true
« Form and solve equations and Variabke: a symbol for a number we. don't know yet

Equation: an equation saus that two things are equal — it wil have an equak sign =
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« Represent and interpret soltions on a : Expression: numbers, symbols and operators grouped together to show the value of something :
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| number Ine as inequalities Idextity: On equation where both sides have variables that cause the same answer inclides =
I
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Linear: an equation or function that is the equation of a straight ne
Intersection: the point that two Ines meet
Inequaity: an nequality compares two valies showing it one. is greater than, less than or equal to

* Draw straignt ne graphs and find
solutiors to equations
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*  Form and solve equations and :

|

inequaities with unknowns on both sides another

______________ |
DN | =T . e T T T T T T 1
: Solve equations @ 3(2x + 4) - 30 | : Form and solve inequaities € |

| I
: 204 | x4 | o4 3(x+4) - 30 || Two more than treble my |
| 30 Expand the brackets I : 5) number is gredter than |1 |
| EE R R ¥ '
| D b+ 12- 30 om0 !
| . -2 -2 Substitute to check your answer | | I
| I xfxfxx3 w This could be negative or a | 3x+aA> |l |
| 30 : fraction or decimal | : S O|V e |
I xlx'xlxlxlx 6X=|8 O II X<_-_j<_-<2 <+ [l I
| 18 -6 -0 x=3 ol | [
| | | x>3 |
e e e e e I
l'at4:. _____ - - - - -—"—-—"F""-"7""7""-"7""""""—"-""-"—"-""\¥"”" ‘" -"=-""—/——_—/ 1
I SOIUUOHS On @ number hne . Inciudes the vale it sits above Valves kess than or equdl to [
| — S o— -— 3 bt dlso more. than - | on 1
| 3-2-10 1 3-2-10 1 23 O Does NOT include the value it I
| x<1 x<1 x>1 x=1 sits above o——o :
: Both represent vaes kss Both represent vales more ” _i _11 <0 xl <23 2 |
| than | than | = |
| hcludes the uaibe | eludes the. vaibe. | [ This includes the integer valves 0, |,2,3] I
_______________________________________________ |

Potting straidht Ine araphs @ |1 Find solitions araphically

Voy=3x-1

F
I :
ﬁ_’ 3y the x coordinate then — | I For Inear equations there s only one : : I
=3x-1 - =
Lo | | point the graph meets the x valle | | { 8x+5=4x+13 } |
x [-3/0]3 Draw a tabk to dsplay this
y |-10[-1] & ]’ mformatlonpw These two Ines wil cross at | pERRnnnnn S 8x+5=4x+13 :
(24) becasse they are ust = | | I ] 4
and y they are paralel o | | . X —4x |
This represents a coordnate. pair axes and meet in one place | X ’; St xxfxfx 2 4x+5=13 |
(-3,-10) I : 2P [Xes, E —5 -5 |
8

I : :
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You only need two points to form
a straight Ine

- - - - T
[ 1
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Remember equation of a
Ine format is y = mx + ¢

Phtting more points helps you
decide if your calculations are
correct (if they do make a
straight Ine)
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The sobtion s the point
the two nes meet
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12 3.

< ® - Ony value 2 or less wil
2 1s satisfy this nequalty

Remember to join the points to
make a ne
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